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And what is the difference — NI OINMY

OVERVIEW

1M1 21 taught that one is permitted to return the hand 7811 70IX?, but not %1
nnKX; to which X297 asked him, ‘what is the difference’ between %17 70X and
nanx 7¥n that one is permitted and the other is prohibited. m»oIN explains
that X237 asked his question only because he limited the concept of NN x1.

— NIV NIV HNNX NOVITAT 9R T 00 M2
We are discussing a case where the two 2°7%17 (the %17 1K and the ¥
nanX) are one opposite the other (on two sides of the 1"77) therefore X237
asked w"n (if it is %7 MR or NIAR 1¥n), for if the two 0% were on the

same side of the 7"177, the two case are indeed different, and X217 would not

have asked w"n, for it is understood why NInIR 2%n?7 it is OK -
— 0390 MY THT NN MY PNN MY LDIWINT NNLA 29N NDIN NIINT

For if he transfers it from the 2"77 to a DAR XVPT2 NIR X0 there is the
prohibition of a nxwr 211 for the 77710 of 7''7m 7 3''777% 3''7n W,

mooIn offers an alternate case where X271 could ask w'"n:
02290 MY OV P09 PNV 1) HNNX NV 9) ON
Or you may even say that both 2% were nnX Xu173, where for instance

there was no 2''719 separating them, so there is no possibility of VW MOX,
therefore X217 asked w"n.

SUMMARY

X217 asked w"»n because he assumed that the two 2°7%n were on two sides of a
7"77 or there was no 1"77 between them; however if they were nnx Xuv72
there is the issue of 1"777 777 °"77% 2772 VWA,

THINKING IT OVER

1. What can we infer from the fact that n901n refers to this V2 as © MO
VIINT DRV :ﬂ’ﬂ’, and not VWINT DRV D'I’ﬂ?2

2. If one extends his hand into a n°>n73 can he return it NAR X2’

!'See vws 1"7 X,2 'O (TIE footnote # 10 [and the ‘Overview’ to ('R7) 22X 17" 710 on this 7).
% See *"w12 7"72 YR WK,
? See WK nmn.
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